
Propriétés des Exposants (F)

Simplifiez les expressions suivantes:

1. (−4)−2 · (−7)−2 2. 7−5

77

3. 37 · 67 4. ((−3)2)−9

5. 4−1 · 4−5 6. (−4)−1

(−4)−3

7. 25

23

8. (−5)−5

(−5)−4

9. (42)−6 10. 86 · 8−5
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Propriétés des Exposants (F) Réponses

Simplifiez les expressions suivantes:

1. (−4)−2 · (−7)−2

= 28−2 =
1

282

2. 7−5

77

= 7−12 =
1

712

3. 37 · 67

= 187

4. ((−3)2)−9

= (−3)−18 =
1

(−3)18

5. 4−1 · 4−5

= 4−6 =
1

46

6. (−4)−1

(−4)−3

= (−4)2

7. 25

23

= 22

8. (−5)−5

(−5)−4

= (−5)−1 =
1

−5

9. (42)−6

= 4−12 =
1

412

10. 86 · 8−5

= 8
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